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NCF (Net Cash Flow) [1] 70 70 70 70 70
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THER [3%& L 7] [8=7X3%] 315
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HWEICL W EZHOES | REME [13=6412] 554.2
BCEARILALEE [14] 500
INPV_(Net Present Value) [15=13—14] 54.28 5 H|
|2t A>T v Z (Profitability Index) [16 =13+ 14] 1.11]
[FEFEE _(RR) 10%]
2.NCF¥+ v 7L — rPEALFIETE->TVBE S5 —X
[Hir$e41t]
wE A &8 1,000 5 /5 1
NCF ¥ ¥ v 7L — b 50%
At 50%
s NG (WIRR —HGR5%) 500 H /3 1
s A4 F 6.0%
H OB A A G 500 &
Evacgiili 54
P& WM T I D e EMIERS 1050 E /5
(") BFEAIAMINCFFv v 7L—hEAKEET S,
[ BER [ 158 [ 2%H | 3%BH | 4%H | 5%H |
B :-BAH
NCF (Net CashFlow) [1] 50 50 50 50 50
FIF B [2] 30 30 30 30 30
FIELFECF [3=1-2] 20 20 20 20 20
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